MATEMATVIKA

TeMa:



He3Hanka
H. HocoB







4c2 pec. 5 en.

1 coT. 2 fec.
70 nec.
6 coT




300+200 =3 COT.+2 coT. =5 coT.=500

800 — 600 =8cor. - 6CcOT.= 2Cc0T.=200
120-50=12p0ec. -5pn0ec.= 7anec.= 70

300 — 60=30pec. — 6pec.= 24p0ec.=240
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a=10wm
B=5M
S=?m°

10*5 =50 (M )

OtBeT: 50 M % nsiowaab
Kopabns.




e 0

38cm= 30 8 cMm
45MM= 4 cM 5MM
3M /cM = 307 CM
50M 8cM = 58 M




3aJa4ya 2.
B C.—-50r

&S M. -7, Ha 50T
1) 50+ 50= 100( r) — Macca Macna.
2) 100+50=150 (r)

OTtBeT : 150 r Macca Bcen NOKYMKMW.



KAPTOYKA

230+40 830-20
560+40 70+60
420-60 90+30



KAPTOYKA

230+40=270 830-20=810
560+40=60 /7/0+60=130
420-60=360 90+30=120
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JloMallHee 3aaaHue

Cc.54 Ne 6, Ne 5




